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ITF-14

1 Example

1 54 00141 28876 3

2 Structure

The configuration for the default implementation is:

<bar code>
<itf-14>
<hei ght >{| engt h: 32mm </ hei ght >
<nmodul e-w dt h>{] engt h: 1. 106mm} </ nodul e- wi dt h>
<wi de- f act or >{ nunber: 2. 5} </ wi de- f act or >
<qui et - zone enabl ed="{bool ean: true}">{| engt h: 10mn} </ qui et - zone>
<checksun»{checksum node: aut o} </ checksun»
<bear er - bar-w dt h>{| engt h: 4. 8mm} </ bear er - bar - wi dt h>
<bear er - box>{ bool ean: t rue} </ bear er - box>
<human- r eadabl e>
<pl acenment >{ human- r eadabl e- pl acenent : bot t on} </ pl acenent >
<f ont - name>{f ont - nane: Hel veti ca} </ f ont - name>
<font-size>{l ength: 8pt}</font-size>
<di spl ay- checksun®{bool ean: t rue} </ di spl ay- checksun®
</ human- r eadabl e>
<[itf-14>
</ bar code>

3 Notes

* SincelTF-14 isbasically an enhanced Interleaved 2 of 5, the notes from that symbol also apply to a
certain degree.

» Thedefault values for ITF-14 shown above represent the nominal size asfound in the GS-1
specification.

e Quiet zones must be at least 10 times the module width.

* The "bearer-bar-width" setting controls the thickness of the bearer bar around the symbol.

* The"bearer-box" setting controls whether a bearer box is drawn (true) or if only the top and bottom
bearer bars are generated (false).

4 Message format

» Valid characters are 0-9.
* Thenormal message length for ITF-14 is 14 digits (including the check digit). If the checksum mode
isset to "auto", BarcodedJ automatically adds the checksum if the message length is 13 digits. If the
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message length is 14 digits the checksum is verified. If the message is not exactly 13 or 14 digits
(depending on your checksum mode setting) you will get an error.

5 Links

* WikipediaonITF-14
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